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(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
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your each answer maximum up to 500 words.

Each question carries 20 marks.
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Explain main features of Indian Labour Statistics
Act, 1953.
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Discuss the utility of labour Economics. Explain
its area of operation.
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Discuss  the extent and causes of ‘Labour
absenteeism’ in India. What are its disadvantages ?
What steps do you suggest for reducing labour
absenteeism ?
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Explain in detail integrated rural development
programme.
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The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A
(Very Short Answer Type Questions)
Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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1. (i) Seasonal Unemployment

e SRS

(ii)) Rural unemployment
TTHTOT SSATRY

(ii1)) Industrial labour
sienfits sifih

(iv) Cottage Industry
e A

(v) Labour Statistics

9v et

(vi) Labour Economics
9T SIS

(vii) Industry Policy
strenfies ifa

(viii) National Labour Commission
T 91 SR

(ix) Unemployment wages
SRS W=l

(x) Labour Policy
g9 ifa

Section-B 4x10=40
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.
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2. Discuss the various aspects of Industrial
Development for Large and Heavy Industries.

T2 T 9 SEr & faw ¥ fafu= smamt wt faaem
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3. Discuss National Employment Policy of India.
YRA 1 T ISFR Aifq &t fae=m Sifsa

4. Discuss main sources of labour statistics.
99 Wfeashl & 9@ Gkl & o= sy

5. Discuss importance of Labour in developing
economy.
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6. Trace the historical development of labour statistics
in India.

aRd H 99 9ifeasl & Ufaefas fasm &1 saEy)
7. Explain the term ‘Labour turnover’.
99 Tad Ug I THSE |
8. What is meant by wages Statistics ? Explain in
detail.
oGl TEeRT w1 F e ¥ 7 fowr | gwemsu)
9. Explain problems of Industrial Development.
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